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Question Number : 1 Question Id : 54062618828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Laho dance form is associated with which of the following states?
Options :

1. ¥ Meghalaya

2. # Nagaland

3. % Madhya Pradesh

4. * West Bengal

Question Number : 1 Question Id : 54062618828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ATe! T Qi e & 9 fora I § et g2
Options :

1. ¢ AUy

2. % TS

3. % A Y

4. % Uiy &7

Question Number : 2 Question Id : 54062618829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QOISR AT ISR H ST 81 ara anftfe sfearft A g | & AR | A maiford fpar STt g |
Options :

1. % 3fd 1 RydaR

2. % JfACER T AdeR

3. ¢ SR T HRaR]

4. % VT AT A

Question Number : 2 Question Id : 54062618829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Baneshwar fair is an annual tribal fair held in Rajasthan. The fair is held in the month of
Options :

1. # August or September
2. % QOctober or November
3. ¥ January or February
4. % April or May

Question Number : 3 Question Id : 54062618830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Stock refers to those variables which are measured at a particular point in time. Which among the following is an example of stock concept?



Options :

1. ¥ Wealth

2. # Income

3. # Investment

4. # Interest on Capital

Question Number : 3 Question Id : 54062618830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 39 IR DI Hefid Fal ¢ o8 99a & fa=i foig R Ao 5irar 8 | Fafafed o 9 &F K6 SaURoN &1 3a1erul 87
Options :

1. Y-

2. % 3

3. % faw

4. % GOl R &Tol

Question Number : 4 Question Id : 54062618831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National Bank for Agriculture and Rural Development (NABARD) was dedicated to the service of the nation by
Options :

1. # Jawaharlal Nehru

2. #® Rajiv Gandhi

3. # Charan Singh

4. ¥ Indira Gandhi

Question Number : 4 Question Id : 54062618831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ® S[QTEATd g%
2. % oltg Tieh
3. % TRUI g

4. « A el

Question Number : 5 Question Id : 54062618832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of disease and body part affected is wrong?
Options :

1. # Glaucoma - Eyes

2. % Typhoid - Intestine

3. % Otitis - Skin

4. % Rickets - Bones

Question Number : 5 Question Id : 54062618832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & § o9 I1 7 3R IRR & gHIfdd 37T 1 St Tad 82
Options :

2. % 37 R - 3T

3. ¢ HHBURIY - &l

4. % @12 - B

Question Number : 6 Question Id : 54062618833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a physical property of non-metals?
Options :

1. ¥ They produce metallic lustre.



2. # They are bad conductor of electricity.
3. % They are bad conductor of heat.

4. ® They are electronegative.

Question Number : 6 Question Id : 54062618833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad o @ 1 srurq &1 ifae o e 82
Options :

1. ¢ 3 YTfcad THP ITT H & |

2. % Y fIegd & PUaD (38 HaeR) B o
3. % Y FHHT & PP (38 HSIR) Bld o
4. % 9 faqgq-BUTHEGAT B |

Question Number : 7 Question Id : 54062618834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Nallamala Hills are one of the ranges of the that stretch over the Mahabubnagar and Kadapa districts of Andhra
Pradesh.

Options :

1. ® Aravalli

2. % Vindhayas

3. # Western Ghats
4. ¥ Eastern Ghats

Question Number : 7 Question Id : 54062618834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URYG TeeTHdT UBIfSar iy U™ & HeqaTR 3R weul foral & Tt o A A Y U g
Options :

1. % 3R

2. % fdeg




3. % gigmtgre
4. ¥ qdf °ure

Question Number : 8 Question Id : 54062618835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following lakes in not in Jammu and Kashmir?
Options :

1. % Dal lake

2. % Waular lake

3. % Rudrasagar lake

4. % Tulian Lake

Question Number : 8 Question Id : 54062618835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeTad @ A B i giter Sy 3R HRAR H 181 7
Options :

1. % Sl

2. % qeR Hid

3. ¥ FEARR S

4. % qfergH St

Question Number : 9 Question Id : 54062618836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals established the first Medical College in Calcutta?
Options :

1. # Lord Canning

2. ¥ Lord Bentinck

3. % Lord Hastings



4. % Lord Curzon

Question Number : 9 Question Id : 54062618836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & § frd HeRmouTe 3 Skl § T SfdR geraaed wifid faar
Options :

1. % QIS i

2. ¥ Tie df®

3. % dle ghe™

4. % QIS BoiA

Question Number : 10 Question Id : 54062618837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following presided over the Allahabad session of 1892 of the Indian National Congress?
Options :

1. # Ananda Mohan Bose

2. # Surendranath Banerjee

3. ¥ Womesh Chandra Bonnerjee

4. % Dadabhai Naoroji

Question Number : 10 Question Id : 54062618837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ fba YR IS S & 1892 & JaTETeIE YT B & HI?
Options :

1. % 3G Higd 9

2. % FIGATY Sl

3. ¢ JUR T §6l

4. % GIGTHTS ARISH




Question Number : 11 Question Id : 54062618838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahatma Gandhi was assassinated in in the compound of Birla Gandhi's House.
Options :

1. ¥ 1948

2. % 1947

3. % 1949

4. % 1950

Question Number : 11 Question Id : 54062618838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e ¥ foran Mieh & R F uReR & g R &1 7T 2R
Options :

1. % 1948

2. % 1947

3. % 1949

4. % 1950

Question Number : 12 Question Id : 54062618839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of International Maritime Organisation (IMO) is located in
Options :

1. * Vienna

2. % London

3. * Paris

4. % Geneva

Question Number : 12 Question Id : 54062618839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fagmn

Question Number : 13 Question Id : 54062618840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first Indian to be featured as the Person of the Year by Time magazine?
Options :

1. # Morarjee Desai

2. % Sardar Vallabhbhai Patel

3. # Jawaharlal Nehru

4. ¥ Mahatma Gandhi

Question Number : 13 Question Id : 54062618840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad & § ®F <igH U gRT IR 31t g $3R g o a1l Ugal R 232
Options :

1. % ORI AT

2. % ISR TEAHHTS ged

3. % TR "g®

4. T Tl

Question Number : 14 Question Id : 54062618841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

has joined hands with The Deutsche Gesellschaft fiir Internationale Zusammenarbeit GmbH (GIZ), German Federal Ministry
for Economic Cooperation and Development (BMZ) to help businesses tackle post-Covid challenges.

Options :

1. ¥ Indian Institute of Management Indore

2. # Indian Institute of Management Calcutta
3. % Indian Institute of Management Bangalore

4. # Indian Institute of Management Lucknow

Question Number : 14 Question Id : 54062618841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A DITS & a8 DI ANl ¥ e T cHaurl & Aeg B & ol S1a TARTE HR $ex-Hd JuHa-ReEE STHeT
STHETE (GmbH) STHA TEfi 2nfifes Tgan ud faerg Haltera & I g1y freman g
Options :
1. ¢ YR et SRIM $ER
2. % YR YU R Hlcaapldl
3. % YR Uee GRIH SR
4, % YR e G-I TGS

Question Number : 15 Question Id : 54062618842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries is the top contributor towards India's Foreign Direct Inflow (FDI) for FY 2020-2021?
Options :

1. # Japan

2. % Mauritius

3. % United States of America

4. ¥ Singapore

Question Number : 15 Question Id : 54062618842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fgferfad & @ o 91 2w a7 99 2020-2021 F T HRA & BRA SR 370 # Y TRTEHSdl 82
Options :

1. % SO

2. % AR

3. % Igdd AT 3ARBT

4. RQR

Question Number : 16 Question Id : 54062618843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states announced 'corona-free village' competitions, where three villages in each revenue district will be awarded
prizes up to I50 lakh?

Options :

1. % Madhya Pradesh
2. ¥ Maharashtra

3. # Rajasthan

4. % Gujarat

Question Number : 16 Question Id : 54062618843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1A BT ST

Options :

1. % g USY

2. ¥ TERTY
3. % ORI

4. % ToRIA

Question Number : 17 Question Id : 54062618844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first lady Chief Minister of a state in India?
Options :

1. ¥ Anwara Taimur

2. # Shashikala Kakodkar

3. % Nandini Satpathy

4. ¥ Sucheta Kripalani

Question Number : 17 Question Id : 54062618844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ ®F YRa & Bl g o gy afgar gereE 82
Options :

1. % 3FERT R

2. % RABA BIDHISHT

3. % e g

4. Al U

Question Number : 18 Question Id : 54062618845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
102nd Constitutional Amendment deals with

Options :

1. # introduction of the Goods and Services Tax

2. ¥ granting constitutional status to National Commission for Backward Classes
3. % substitution of "Odia" for "Oriya"

4. % empowerment of the Governor of Karnataka to take steps to develop the Hyderabad-Karnataka Region

Question Number : 18 Question Id : 54062618845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9% Ud a1 HR P =31

2. v UBeT o & o WgTa Ml &1 HaeTe goll UaH &1

3. % Ifsar & fou "3nfSar o1 ufawirga

4. % gaXTIE-P-icH &F P AT & foTT HeH IS & folU Hicd P ITUTH BT JRITFRIBT

Question Number : 19 Question Id : 54062618846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 2027 men's ODI World Cup will feature teams after the ICC Board decided to expand the quadrennial tournament in its next cycle
of event.

Options :
1. % 18
2. %10
3.% 12
4. ¥ 14

Question Number : 19 Question Id : 54062618846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICC S8 7 30 TR & 3ATal 9k H Iqau g (TS ad) TAMHC BT AR HR o1 (Aol foran, 39 a1g 2027 T¥W & oDI fay U d
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Options
1. * 18
2. %10
3.% 12
4.9 14

Question Number : 20 Question Id : 54062618847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who among the following chess players won the FTX Crypto Cup 2021?
Options :

1. ¥ Magnus Carlsen

2. #% So Wesley

3. % Fabiano Caruana

4. # Anish Giri

Question Number : 20 Question Id : 54062618847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfed & 9 forg Iavs Raaret A FTX TPl &9 2021 S

Options :
1. ¢ TUE Plera
2. % It
3. % BieUM SRESHM
4. % 3R
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Show Attended Group? : No
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General Ability
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062618848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In question, a series is given, with one term missing. Choose the correct alternative from the given one that will complete the series.

AB4, CDS, EF12,?
Options :

1. = GI14

2. % HJ18

3. ¥ GHI16

4. = HGI16

Question Number : 21 Question Id : 54062618848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y T, U SR 21 T8 &, o U Ue g 8| fou Y fasedt H ¥ We) fawed o1 T X Sl 4Rael ol ORI B

AB4, CDS, EF12, ?
Options :
1. # GIl4
2. % HJI8




3. ¥ GHI6
4. *= HGI16

Question Number : 22 Question Id : 54062618849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In question, a series is given, with one term missing. Choose the correct alternative from the given one that will complete the series.

wo67p, v72s,u77v, ?, s87b
Options :
1. ¥ t82y
2. % t81x
3. * 1800
4. % t88y

Question Number : 22 Question Id : 54062618849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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wo67p, v72s,u77v, 7, s87b
Options :
1. ¥ 82y
2. % t81x
3. * t800
4. = t88y

Question Number : 23 Question Id : 54062618850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd letter group from the given alternatives.

AC,JM, PS, GJ, WZ



Options :
1. * @GJ
2. % WZ
3. % JM
4. ¥ AC

Question Number : 23 Question Id : 54062618850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad uy &, fu 7 fasmed! & O faud 31&R T &1 90 Hr|

AC,JM, PS, GJ, WZ
Options :

1. % GJ

2. % WZ

3. % M

4. % AC

Question Number : 24 Question Id : 54062618851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd letter group from the given alternatives.

YV, WU, TQ, RP, MJ, KH
Options :
1. % RP
2. % MJ
3. % KH
4. % WU

Question Number : 24 Question Id : 54062618851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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YV, WU, TQ, RP, MJ, KH
Options :
1. % RP
2. % MJ
3. ¥ KH
4. % WU

Question Number : 25 Question Id : 54062618852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

FIM:UQN::BEH:?
Options :
1. ® CFI
2. % SVY
3.9 YVS
4. % VRO

Question Number : 25 Question Id : 54062618852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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FIM:UQN::BEH:?
Options :

1. # CFI

2. % SVY

3.9 YVS

4. # VRO



Question Number : 26 Question Id : 54062618853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

WS :48::PU:?
Options :
1. ¥ 116
2. % 115
3.% 114
4. % 117

Question Number : 26 Question Id : 54062618853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHeT BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo TR ¥ 3R UG Ugd Ug ¥ Hafed g

WS :48::PU:?
Options :
1. ¥ 116
2. % 115
3. % 114
4. % 117

Question Number : 27 Question Id : 54062618854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IF 'GOAT!' is written as "TOAG', then 'CASE' is written as?
Options :

1. # ESAC

2. ¥ EASC

3. % ASCE

4. % ECAS



Question Number : 27 Question Id : 54062618854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G 'GOAT BT 'TOAG' ToRa 7T 8, 1 'CASE' &1 & feraT STam?
Options :

1. # ESAC

2. ¥ EASC

3. % ASCE

4. % ECAS

Question Number : 28 Question Id : 54062618855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code 'BIRD' is written as 'ACHJQSCE!', then how will 'DISC' be written in that code?
Options :

1. % CEJHRTBD

2. % ECHJRTBD

3. ¥ CEHJTRBD

4. ¥ CEHJRTBD

Question Number : 28 Question Id : 54062618855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A3 B & 'BIRD' &1 'ACHIQSCE' & &0 # forar a1 8, dl 34t &is H 'DISC' 1 Y forar Smaem?
Options :

1. ¥ CEJHRTBD

2. % ECHJRTBD

3. % CEHJTRBD

4. ¥ CEHJRTBD



Question Number : 29 Question Id : 54062618856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajesh is the brother of Ankit. Shano is the sister of Shuvam. Ankit is the son of Shano. How is Rajesh related to Shano?
Options :

1. # Paternal cousin brother

2. % Paternal nephew

3. ¥ Son

4. % Paternal uncle

Question Number : 29 Question Id : 54062618856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O SHfehd BT UTS | T, YaH 1 98 7| 3ifhd A &1 T 7 | oI T I 2 T 72
Options :

1. % TR YR

2. % cfloll

3.4 07

4, % M

Question Number : 30 Question Id : 54062618857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Introducing Shilpa to guests, Shyam said, " Her father is the only son of my father". How is Shilpa related to Shyam?
Options :

1. % Sister

2. % Daughter

3. ¥ Wife

4. % Mother

Question Number : 30 Question Id : 54062618857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A ¥ RIeur &1 ged HR1d gU T A 8T, 39 fUar IR fdr o sdhard T ¢ 1 FRreur o § o8 Safird 82
Options :

1. % dg

Question Number : 31 Question Id : 54062618858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statements: I. Some schools are factories.
II. All factories are shops.

Conclusions: (I) All shops are factories.
(IT) Some shops are schools.

Options :

1. # Only conclusion (I) follow
2. % Only conclusion (II) follow
3. ® Either (I) or (IT) follow

4. % Neither (I) nor (II) follow

Question Number : 31 Question Id : 54062618858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § < pyY feu e g, f5ge a1¢ gl s 1 3R 11 fau 7T §1 3imuep! 37 HUA &l I A1 8, YA 81 T8 ITHId: J1d a2 3 i v
11 SIS T FHRA1 g b ST T st § J &1 1, A i 31 dl fAT T Bl & § SreRu dal g |

FY: 1. $S [T FREM B |
1. 9t HREH gHH ¢ |



st (1) Tt g HREM g |

(1) TS gHM [daTed g

Options :

1. % $Had FSHY (1) STIR0T HRAT §

2. ¢ Had 5HY (I1) IR0 FRl §

3. % Iy (1) AT (1) SFIERVT Hal §

4. % g (1) R A ST (1) 3T BT &

Question Number : 32 Question Id : 54062618859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question four statements are given, followed by four conclusions, I, I, IIT and I'V. You have to consider the statement to be true even if it

seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statement.

Statements: I. Some baskets are glasses.
II. All glasses are pots.

III. some pots are plates.

I'V. All plates are cups

Conclusions: (I) No glasses are pots.

(IT) All glasses are baskets.

(IIT) Atleast some pots are baskets.

(IV) Some plates being glasses is a possibility.

Options :

1. # (I) and (II) follows

2. % (III) and (IV) follows
3. % Only (II) follow

4. % None follows

Question Number : 32 Question Id : 54062618859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § IR Sy e MU B, s a1 IR sy 1, 11, 111 3R 1v feu T §1 3muesl 37 HUA &l I AT 8, YA 81 T8 ITHIIG: J1d a2 3
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1. gt ey e |

1. $& HePh We g |

v. 9 wie FU |

fosp: (1) 1S el HesT T8l B

(an) Jt e AsRar g

(1) HH Y HH $S HAedh BRI g |

(IV) $ e Pt AR 811 B U 8 |
Options :

1. % () 3R (II) TR HR &

2. (I11) 3R (IV) IR Fd §

3. % Had (II) IR0 B &

4. % PIg IR a! Bl

Question Number : 33 Question Id : 54062618860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd number from the given alternatives.

5,15,3,18,6,42,8
Options :

1. % 15

2. % 8

3.%3

4. ¥ 42

Question Number : 33 Question Id : 54062618860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fuferRaa Uy |, fau e fawedi | ¥ foww e &1 999 B |



5,15,3,18,6,42,8
Options :

1. % 15

2.% 8

3.%3

4.9 42

Question Number : 34 Question Id : 54062618861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

5:625::7:7?
Options :
1. % 875
2. % 343
3.9 2401
4. % 1225

Question Number : 34 Question Id : 54062618861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [doed &1 999 B S e Ue I I UHR ¥ Aa&fd ¢ o IR ¥ gkl UE Ugd U & Hafdd g

5:625::7:7
Options :
1. % 875
2. % 343
3. % 2401
4. % 1225

Question Number : 35 Question Id : 54062618862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagrams best depicts the relationship between men, teachers and Americans?
Options :

Question Number : 35 Question Id : 54062618862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 3 goui, g 3R smfkfadl o s & et &) Tad 3fwsT axifdl 82

Options :

1. #



2. %

3. ¢

SRR

Question Number : 36 Question Id : 54062618863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many hexagons are there in the following figure?

Options :
1.¥3
2.% 5
3.% 6
4. % 2

Question Number : 36 Question Id : 54062618863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafefad srepfa & fba ey 8

Options :
1.¥3
2. %5
3. % 6
4. % 2

Question Number : 37 Question Id : 54062618864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.

r
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~ ?

Options :
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Question Number : 37 Question Id : 54062618864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 38 Question Id : 54062618865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.






Question Number : 38 Question Id : 54062618865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TY TP B R DR

Options :




2.¥

Question Number : 39 Question Id : 54062618866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the answer figure which is embedded in the question figure.

Options :



Question Number : 39 Question Id : 54062618866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I IR ATHTd BT T B3 S U 3Pl § IHRA 2|



Options :

2.¢




Question Number : 40 Question Id : 54062618867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On the basis of the given two positions of single dice, find the letter at the face opposite to the face having letter A?

L I
Options :

1.¥E
2.% B
3.% C
4. % D

Question Number : 40 Question Id : 54062618867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Thd U &1 <1 118 < FRUFT & YR IR, 38R A 910 el P I Bhaidh WR fRUT 18R JTd B2

il I
Options :

1.¥E




2.% B

3. C
4. %D
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062618868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Express 1 less than the square root of the square of the square of the number 32 in binary form.
Options :

1. *= 111111111

2. % 11111111

3.9 1111111111

4. % 1111111

Question Number : 41 Question Id : 54062618868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G132 % T h I o YA F | HH P gAIYRI &Y H o By |
Options :

1. % 111111111

2. % 11111111

3.9 1111111111

4. % 1111111

Question Number : 42 Question Id : 54062618869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number 1 X 15 when divided by 15 leads to the square of the square of 3. Find the value of X.
Options :

1. %1

2.¥ 2

3.%3

4. % 4

Question Number : 42 Question Id : 54062618869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th T/ 1 X 15T 15 A RUSI A R 3 B T ST R ST 81 X BT A J1d B



Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 43 Question Id : 54062618870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There was a group of 40 people who played cricket. 20 of them played on weekdays and the whole group played on weekends. Find the average
number of people who played in the month of April starting with a Saturday.

Options :

1. % 2333
2.9 26.67
3. % 30

4. % 3333

Question Number : 43 Question Id : 54062618870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhdhe W aTal 40 AR T THE UT| 370 F 20 AT Tg & a1 H Wad g 3R T THE TWgid IR WardT ¢ | UFIR I & g ardl
30 & HRIA T W aTel ATl bl STl TR T Y|

Options :

1. % 23.33

2.9 26.67

3. % 30

4. % 33.33

Question Number : 44 Question Id : 54062618871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are four numbers W, X, Y and Z. X is 75 percent greater than W. Y is 20 percent lesser than X and Z is 50 percent greater than Y. By how



much is Z greater than W?
Options :

1. % 100 percent

2. % 110 percent

3. % 120 percent

4. % 125 percent

Question Number : 44 Question Id : 54062618871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRIGWMT W, X, Y 3R 281 X, W ¥ 75 Ufawrd 98181 Y, X ¥ 20 Ufawra Bler g 8iR z, Y A 50 Ufawd ss1 81 Z, W A fhdr s 82
Options :

1. % 100 gfa=rd

2. ¢ 110 Ufa=rd

3. % 120 gfa=rd

4. % 125 gfa=rd

Question Number : 45 Question Id : 54062618872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a college student council elections, X got 35 percent of the total votes and Y got 60 percent of the remaining votes. Z got the remaining votes
and his count was 780 votes. How many votes did Y get?

Options :
1. % 1140
2.9 1170
3. % 1200
4. % 1230

Question Number : 45 Question Id : 54062618872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HeIfaeerd 3 UReE & g1d H, X &1 & Jdl &1 35 Ua=d iR Y &1 Y Tl BT 60 Ufa<rd U 3411 Z &1 /Y 7 e 3R 39!



el 780 7 At 1 Y 1 fova w7 et
Options :
1. % 1140
2.% 1170
3. % 1200
4. % 1230

Question Number : 46 Question Id : 54062618873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e DI I P 3T T faha Geg 20 Ua=rd $1fid TR 9 511l 8, df a1y Hia=rd 25 Uia=rd 81 SiTdl § | Ja oy Uia=rd I1d &3 |
Options :

1. % 4.05 gfa=rd

2. % 4,00 gfa=rd

3. % 4.13 Ufa=d

4. ¥ 4.17 9fa=rd

Question Number : 46 Question Id : 54062618873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a good is sold at 20 percent more than its usual selling price, then the profit percent becomes 25 percent. Find the original profit percent.
Options :

1. * 4.05 percent

2. % 4.09 percent

3. % 4.13 percent

4. ¥ 4.17 percent

Question Number : 47 Question Id : 54062618874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cost of an airplane was Rs 750 million and the cost of its repairs was Rs 5 crore. It was sold for Rs 1 billion. Find the profit percent.
Options :



1. % 20 percent
2. % 25 percent
3. % 30 percent
4. % 33.33 percent

Question Number : 47 Question Id : 54062618874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TS W8Sl & NTd 750 fAferaa Suu oft 3k St HRwAd 3t ad 5 dRis vud ot | 39 1 fafera Suu & o= mar un) ary ufawrd 3
Gy

Options :

1. % 20 gfa=rd

2. ¢ 25 Ufa=Id

3. % 30 gfa=rd

4. % 3333 gfaerd

Question Number : 48 Question Id : 54062618875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y earn in the proportion of 4 : 5 and spend in the ratio of 5 : 4. If X saves Rs 400 out of Rs 2,400, then find the savings of B?
Options :

1. ¥ Rs 1,200

2. % Rs 1,400

3. % Rs 1,600

4. % Rs 1,800

Question Number : 48 Question Id : 54062618875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@TY4 :5 % AU H 31T 3ffold FXd g MR 5:4 P U H T B 8 | AlS X 2,400 T H I 400 TUU F4TAT &, A1 B B! 9d A1
?




Options :

1. % 1,200 ®4UUQ
2. % 1,400 >UUQ
3. % 1,600 >UU
4, % 1,800 %4

Question Number : 49 Question Id : 54062618876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is to be distributed amongst A, B and C in the ratio of 3 : 4 : 5 but it was instead distributed in the ratio of 1/3 : 1/4 : 1/5. A got
Rs 6,600 more due to this mistake. Find the sum of money distributed.

Options :

1. # Rs 36,000
2. % Rs 37,600
3. % Rs 39,200
4. % Rs 40,000

Question Number : 49 Question Id : 54062618876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH AR BT A, BAR CF A3 : 4 : 5 F 3Jurd H faalka fran S 8, A 39 1/3 : 174« 1/5 & 3rura H faala fosan man 1) 39 et
& PRUT A DI 6,600 ST 31H el | faaia e i1 1 S

Options :

1. % 36,000 ¥UQ
2. % 37,600 ¥UU
3. % 39,200 ®4UUq
4. % 40,000 ®U¢

Question Number : 50 Question Id : 54062618877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the effective rate of compound interest per annum if the rate of interest if 200 percent per annum compounded quarterly?



Options :

1. # 200 percent

2. # 306.25 percent
3. % 350 percent

4. ¥ 406.25 percent

Question Number : 50 Question Id : 54062618877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i oY Tehgfe ST Bt YU &R J1d B Al FHTRIG Ihgia TR Ufdas 7ol &1 & 200 Wia=id 82
Options :

1. % 200 Ufcr=rd

2. % 306.25 Ufa=Id

3. % 350 gfa=ra

4. ¥ 406.25 Ufa=Id

Question Number : 51 Question Id : 54062618878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money earns Rs 1600 as simple interest of X percent for X years. If the principal was Rs 2500, then find the value of X.
Options :

1. %5

2.% 6

3.% 7

4.9 8

Question Number : 51 Question Id : 54062618878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS R X I8 P 1T X Uf=Id & FTYRUT TS & U H 1600 FUY SfSTd HRall § | A TAUH 2500 FUT AT, T X HT A 1 Hr |

Options :



l.*5
2.% 6
3.% 7
4.9 8

Question Number : 52 Question Id : 54062618879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 cars A and B have to complete a journey one after the other of 750 kms in 10 hours. A takes half the time but only covers 40 percent of the
distance. What should be the speed of B if the distance is now to be covered in 90 percent of the original time?

Options :

1. ¥ 112.5 kmph
2. * 115 kmph
3. % 117.5 kmph
4. * 120 kmph

Question Number : 52 Question Id : 54062618879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 HR A 3R B B! T& & §1¢ U 750 kms B AET 10 6 T TR HIAT G 1 A ST THT Tl § AT dhaet 40 Ti=Td gl 0 et & | Afe g
& 31F T T & 90 Uia=Td H 09 &1 g df B &1 71 a1 8141 anigd?

Options :

1. ¥ 112.5 kmph
2. % 115 kmph
3. ® 117.5 kmph
4. * 120 kmph

Question Number : 53 Question Id : 54062618880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A car can cover 96 kms in an hour. How much can the car cover in 12 seconds?
Options :



1. * 80m
2. % 160 m
3. % 240 m
4. % 320 m

Question Number : 53 Question Id : 54062618880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BR TP ° T 96 kms B g3 I BR Tl ¢ PR 12 Jhs | fha- g8 g o= Taball 82
Options :

1. % 80m

2. % 160 m

3. % 240 m

4. ¥ 320m

Question Number : 54 Question Id : 54062618881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X who can do the work in 10 days worked for 4 days and left. Y was given the task to finish the rest of the work. Find the number of days that Y
will take if Y can do the whole task in 25 days.

Options :

1. ¥ 15 days

2. % 12.5 days
3. * 10 days

4. = 7.5 days

Question Number : 54 Question Id : 54062618881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, S 10 fE H T R b1 8, 4 7 S aRal § IR IATT@IR | Y P A B R HRA &1 14 fean | af y R s &t 25 feAt
P IHdl g, dl Y B T ard fe=f ot T Jrd +e |

Options :




1. ¢ 15feT
2. % 125feq
3. % 10feq
4. % 757

Question Number : 55 Question Id : 54062618882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y and Z can finish half of their jobs in 20, 30 and 40 days respectively. In how many days can they finish the job working together?
Options :

1. # 120/13

2.9 240/13

3. % 120/17

4. % 240/17

Question Number : 55 Question Id : 54062618882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y 3R 7 30 ST T AT 3T HT: 20, 30 3R 40 & & TAT B Tobd g | A Th 1Y HTH HRP B & [ha- fo= & AT R
b 87

Options :

1. % 120/13

2.9 240/13

3. % 120/17

4. % 240/17

Question Number : 56 Question Id : 54062618883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylinder with a radius of 84 cm and height as 72 cm has been melted and reformed so that smaller cones of radius 3.5 cm and height 3 cm can
be formed. Find the number of cones formed.

Options :



1. * 20736
2. % 31104
3. ¥ 41472
4. %= 62208

Question Number : 56 Question Id : 54062618883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

84 cm AT 3R 72 cm S dATS ATQ T S B! FUGETE STH F11 71 § dlfh 3.5 om AT 3R 3 em TS 1A BIC ¥ §E o Tab |
§TY 7T i3 B T 1 B

Options :

1. ® 20736

2. % 31104

3.9 41472

4. % 62208

Question Number : 57 Question Id : 54062618884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the difference between the total and curved surface area of a cylinder with radius 7 cm and height 10 cm.
Options :

1. ® 154 sq cm

2. % 616 sqcm

3. % 308 sq cm

4. % 462 sq cm

Question Number : 57 Question Id : 54062618884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 cm F3SIT 3R 10 cm %18 & 90 & Hdl 3R ah YSIT 8B A b &9 BT 3R I DY |
Options :

1. # 154 sqcm




2. % 616 sq cm
3. % 308 sq cm
4. % 462 sq cm

Question Number : 58 Question Id : 54062618885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie-chart shows the distribution of students across different colleges in a town. If all of the students participate in a competition and the
success rate for colleges P, Q, R and S was 5 percent, 10 percent, 7.5 percent and 8 percent respectively, then which college was most successful?

Distribution of Students

Options :
1. % P
2. % Q
3.¥R
4. % S

Question Number : 58 Question Id : 54062618885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIS-a1¢ o TR | fafter werfaemeral # gl & fadRur ) exiiar g1 afe Gt o te ufadifiar & 4T dd & SR Aeifdenaa p, Q, R 8RS
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Options :
1. % P
2.%Q
3.¥R
4. % S

Question Number : 59 Question Id : 54062618886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the number of students scoring marks in different ranges when the full marks was 100. What is the ratio of the number of
students scoring between 30-50 and between 60-80?



Mumber of students

o-10 10-20 20-30 30-40 40-30 S0-60 60-70 70-80 20-20 90-100

Marks

Options :

1. ¥ 38:35
2. % 19:18
3. % 19:22
4. % 38:31

Question Number : 59 Question Id : 54062618886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3P

Options :

1. ¥ 38:35
2. % 19:18
3. % 19:22
4. % 38:31

Question Number : 60 Question Id : 54062618887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The histogram shows the FDI (in $ billions) for a country over the given years. In which year, is the change minimum?



3000

2500

1500

1000

FDI (in 5 billions)

500

2015 2016 2017 2018 2019 2020
Year

Options :
1. % 2016
2.9 2018
3. % 2019
4. % 2020

Question Number : 60 Question Id : 54062618887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2016
2.9 2018
3. % 2019
4. % 2020
General Hindi
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Question Number : 61 Question Id : 54062618888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad oy o, IR fawedl # Q, 39 fadmed &1 997 3 o fou 7T sg & We) Widl- e &1 fawea 8|
T

Options :

1. % T+ S

2. ® T+ S

3. % T + 3T

4, ¢ T + S

Question Number : 61 Question Id : 54062618888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfRad Uy |, IR [adwedl 7 9, 39 fddhed &1 9949 &3 o1 fGT U Wsg & ol WfY-lawse &l [ddbed 8l
T

Options :

1. % T+ S

2. ® T+ S




3. % T + 3Hf
4. T+ S

Question Number : 62 Question Id : 54062618889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed oy 8 oR el § 9, 39 e &1 907 &3 S 3T 7T Teg & fw I8t deqey J9r9 & faue &1 faswea gl
ECCR

Options :

1. % OId BT Bl

2. % Sl R HAA

3. ¢ SId B DA ardl
4. % SF DI HA

Question Number : 62 Question Id : 54062618889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed gy o, IR fadedl # 4, 39 fadbed &1 9g D ot U T Weg & foIT Gg1 g2y FHE & faug o1 fadbed gl
SIDH AR

Options :

1. % O B BRI

2. % S R BT

3. ¢ O1d Bl HaRA arell
4. % I B HA

Question Number : 63 Question Id : 54062618890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR iwedl 7 9, 39 fawcd &1 907 &% S ST T 99 Ueg BT et [dbea gl

Options :




1. % faaar
2. ¢ fASifg
3. % gitq

4. % 14

Question Number : 63 Question Id : 54062618890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8§, IR fawedl & 9, 39 fddhed &1 99 B Sl SUNT U 4 Xeg BT gl [ddhed 51|
Options :

1. % e

2. ¢ fGifa

3. % gt

4, % ¢4

Question Number : 64 Question Id : 54062618891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al 7 ¥, 39 faded &1 999 3 o) faTU TN Weg &1 dagd U Bl
qde

Options :
1. ¥ UUug
2. % drar
3. % U
4. % Ug]

Question Number : 64 Question Id : 54062618891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 9, 39 fddhed &1 999 &2 o7 fGTU U Weg &1 dagd U Bl




gdc
Options :
1. ¥ UUug
2. % drar
3. % U
4. % Ug]

Question Number : 65 Question Id : 54062618892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR weal 7 9, 39 fawca &1 987 &% Ot feU 7T Yo & YTigaTel Weg 1 el f[ddhed T8l 5|
T

Options :

1. # 3Adcll
2. % -l
3. ¥ hdh
4. % DIEET

Question Number : 65 Question Id : 54062618892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR ieedl 7 9, 39 o &1 987 & ot 3T TTW Yo & YT Weg b1 el f[dbed Tel g
il

Options :

1. % 3{dcll

2. % Al

3. % Db

4. % HIOHT




Question Number : 66 Question Id : 54062618893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR ecal 7 9, 39 f9hcd o1 987 & ot fAdiH Wsg &1 a9 331 faheu g |
I

Options :
1. % Yobc
2. ¢ 3Tt
3. % fadR
4. % Yald

Question Number : 66 Question Id : 54062618893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad Uy 7, IR e & 3, 39 9wy &1 T B o fadH e T a9 33T fAbed 5|
I

Options :

1. ® Ybc
2. ¢ 3Tt
3. % foR
4. % YUald

Question Number : 67 Question Id : 54062618894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeiRad Uy #, IR Al A 9, 39 I8! f[dwed &1 I B3 Sl ITaiRN & ol U s, &1 f[ddhed gl
31feres A aTel

Options :

1.« AHY




2. % gfaen

3. % HURI
4. % 3o

Question Number : 67 Question Id : 54062618894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § T, 39 I8! faded o1 I B3 Sl Tl & ol U e o1 fadhed 8|
31ferep AT arer

Options :

1. ¥ A
2. % qfe™
3. % HUR]
4. % 3fforAT

Question Number : 68 Question Id : 54062618895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, aR fawedl § 9, 39 el fadwed &1 997 & S Rad RIF & o Iuged et &1 el [dhed 5|
YRA | Hgaff & ey 3@ AT ARl B T8l

Options :
1. % gfd
2. % HHAT
3. ¢ Bl
4. % d[d

Question Number : 68 Question Id : 54062618895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad oy ¥, aR fowedl & 9, 39 Ug! fdwed &1 99+ &3 o Rad R & o7t Iugad Wss &1 el fadhed g




YR & Bgai T et/ I@ a1 AERY B TR
Options :
1. % gfd
2. % T
3. ¢ DAl
4. % qrd

Question Number : 69 Question Id : 54062618896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fawcu &1 97 &% 9t T TN Yeg &1 TWiifeiT U a1 fape g |
IeR

Options :

1. * WeRl
2. ¢ qEIRA
3. % YERH
4. % gERt

Question Number : 69 Question Id : 54062618896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy &1 T B &Y faU 770 et &1 TWifel1 = arar fapey g1
G

Options :

1. * TRl
2. ¢ qEIRA
3. % ERH



4. % IERY

Question Number : 70 Question Id : 54062618897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawenl § 9, 39 fawed &1 70 &L S foU 1T Weg & dgaeH U &1 Jad 331 fawed ]

CINED

Options :

1. % defd

2. ¥ dlddhd<q
3. % SIAPIY
4. % STADISA

Question Number : 70 Question Id : 54062618897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 99 o Sl 3T U 2Meg & Igad ©U & Jad 33T f[ddved 5|
CINEY

Options :

1. % qdd

2. ¢ B
3. % 9Py
4. % FIADISHI

Question Number : 71 Question Id : 54062618898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaied vy #, IR fowddl 7 9, 39 fdded &1 997 3 ol DIFH | QU U e & SR HegH TN drd Ta-TH BT qed 35T [ddhed




gl

Options :

1. % () Hd ol 7o S g

2. % (GHep!) U1 el BT =R U]
3. ¢ (JRRI) S fod &R a1 g e
4. % (#) T Terc Bt T8 B

Question Number : 71 Question Id : 54062618898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,mﬁﬁﬁ@r,wiﬁwwmqw ® ol HIFD U AT T e & TR HHH Yo Iadh J9-TH BT Ja 33T fadheq
|

Options :

1. % (U3 Bl € I09 ST g

2. % (GHDI) THI -T61 BT =Ry |
3. ¢ (@RI ST fod &R a1 g e
4. % (@) T TTecht Bt AR B

Question Number : 72 Question Id : 54062618899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed gy o, IR fadbedl # 9, 39 fadb ey &1 98 D Wl favH g ol aTe’s &1 Hgl [dehed Bl
Options :

1. ¥ 98 QIR &1 T, J91-HG, ¥-Ag, AEHR oI R I SH 1 s 1T 38T

2. % 98 QIR B! 9aH, I6-HE, Y9-9g, DR ok RIS I SH 1 §41dT 812

3. % 98 QI B! IdH IAS-IG 4-9G SEDHR ol qRI3a! I GHR 51 FaTdl 61

4. % 98 QI DI FdM- IS-Ag, Y-Ag, MEHR - ST §RISTT I FHRM g1 ST 8T

Question Number : 72 Question Id : 54062618899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Uy 4, aR fased! & 1, 39 fdewed &1 99 &< Sl fav19 g god a1 &1 Hal fadheu gl
Options :

1. ¥ 98 QIR &1 T, J91-HG, ¥-Ae, AEHR oI R I SH 1 s 1T 38T

2. % 95 QI I JdM, IAW-TG, U-1G, DR ol qRI! I GHR 51 FaTdT X617

3. % 98 QORI & M AGl-AG Y9-16 PR ol GRIST! I GHRI 8 Il g

4. % 98 QIR DI GA- Iol-Hg, Y79-1g, DR - ol 1541 I gHRM B §a1dl 351

Question Number : 73 Question Id : 54062618900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal A 9, 39 faweu o1 97 &8 ot foT U Aeifad o1 gt 31 arerr fapea g |
YR » R A I 1 da -

Options :

1. ¢ 3Oy Akl o U 3fwd! 9% gl
2. % SRTd q Sfie a1d A

3. % Sfad gfd Smenfad Xg

4. % §gd Hod gl

Question Number : 73 Question Id : 54062618900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR eeal 7 9, 39 fahca &1 9a7 &3 ot feu 71 Aieifad o1 gt 31 arerr fape g |
FFeR & RR T Tl 71 dd -

Options :

1. ¢ 3ANY Hfad & N 33! a¥g g
2. % BRIId T 34 a1d HRAT

3. % Sfige dd SHTRNf~ad g

4. % §gd Ho™ gl




Question Number : 74 Question Id : 54062618901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied we o, TR fowenl # 9, 39 fadhed &1 707 B S < 718 GgTdR &1 e 3 g fdsed g |
Yo IR ] ST -

Options :

1. % RWY HIAT

2. % Tqr e

3. ¢ HfS BIH Seg] H HA]
4. % YAT ST

Question Number : 74 Question Id : 54062618901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed oy & aR fawedl § 9, 39 fadhed &1 9a &3 ol &1 718 JeTaX &1 Ja! o ara fadwed § 1
Yl IR IR ST -

Options :

1. % AR HIA[

2. % T[ar Gl

3. ¢ HiSH B Seg] H HA]
4. % YRT ST

Question Number : 75 Question Id : 54062618902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad we o, TR fowenl # 9, 39 fadhed &1 797 B S < 718 GgTdR &1 e 3 g [dhed g |
gaT o UIS] U YaR I -

Options :
1. # Sl




2. ¢ Sgd Seel A T
3. % HIY Ydbe Bl
4. % IR

Question Number : 75 Question Id : 54062618902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & o fawedl # 9, 39 fade &1 Tg9 &% ot &Y 718 YeTa &1 Ja! 3 arar fadwe ]
891 P TSl R JaR gl -

Options :

1. % STl

2.+ §gd Sleg] | T

3. % BIY Pbc BT

4, % QdRIAl

Sub-Section Number : 2

Sub-Section Id : 5406261087
Question Shuffling Allowed : Yes

Question Id : 54062618903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Y TR &1 AU U MR IR fawedi § ¥ e Uy &1 garad IR g |

TR oo B U T SRS o T ST & S BIC W diol § 1 g U1 R 1 M1 3 SRS Y IS IR e I 71 5 I I
fag +ft Tewd 3| dTS Fed § foh [aY & UDD Siia Bi bl 3R IUDT WU 3ITHT-3T gidl g | fogt it &1 Hf Ty 781 gl |
faftrer fORd &1 THTR 81 UUR 1 331 UPR ¥ dRIS! HIRIB1SH (o) U 39 IR BT FH10 g311 5 | YD BT WHIG aUT HH 7 8, fh
1l I8 AT TRR T16R 9 U (GETR USdT 8 | S 81 6 BIRIBIE ARG §, ST I gas! SIS wWd: o it g | gt /u=-310= S| o
T M g3 & | 9 B fasms 7 el | 3l S71H 1 Teb 1t DIRIDT BTH BT 8 R <, A 39 IR BT 31K 81 ek H IS S|
mﬁmmﬁammﬁw-%ﬂgﬁm%,qﬁwﬂﬁﬁﬁmsﬂﬁwwwwmww%aﬁ@
&1 forR0l IR O el 811 & d1avlg, d R gl §RT UHhA & fdggd a<ill & deal off Jabdi g |

Sub questions




Question Number : 76 Question Id : 54062618904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o IR g fad H 301 a9 g2
Options :

1. ®* 9 §gllus

2. % gg

3. « ol §EIUS

4. % 9IS

Question Number : 77 Question Id : 54062618905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
J91fe fr 919 § YgHd 82

Options :

1. % U Siid & I 8

2. % YAH B WHE TAH

3. ¢ Ud® oitg i g

4. % YOS DI fha 3R W@HE I

Question Number : 78 Question Id : 54062618906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfeT AT I SR 5 e ¥ fbd THR 4R Tl 82
Options :

1. & & HIEH

2. % B & gRI

3. % GG & GRI

4. % IR Y

Question Number : 79 Question Id : 54062618907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST ¥ DI - T THE T BT FHARN et a1 82
Options :

1. = dey

2. ¥ dg=ydl

3. % el

4. % JHJAdI

Question Number : 80 Question Id : 54062618908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3G B g JUYad XY b-
Options :

1. ® Uh=Udl

2. % M BT A

3. ¢ fda o1 fAmior

4. % SEUS B AT

Question Id : 54062618903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

T TR &1 YD U 3R IR fadbed H I UAH U &1 qarad SR g |

&R el & Ueh TN STRITS o &) ST § oI B U il  IR1 g¢f fIUT ¢ 1 S1eH) §9 SRS B I eI 3R Fharee Sh1 ¢ | § I 9
fae +ft Tewd | dFS Hed § [0 [aY & UAD Siid B bl 3R IUDT WHG THT-3T gidl g | fbg it &1 Hf Ty gt giai |
faftrer oTfordt o1 FHTd 81 HAR 8 | 3 UhR I HRIS| HIfreblaf (Hed) Y 38 IR 1 (A0 g3 81 YA BT WHTd a1 $H e 8, i
1l I8 AT TRR T16R 9 U (GETR USdT & | S 81 6 DIRIBIE ARG §, ST I gas! SIS wWd: o it g | Gt /o=-310= H| o
Td oM g3 & | 9 Bl fasms 7 el 3l S7H 1 Teh 1t DIRIDT BTH BT 8 R <, A 39 IR BT 31K 81 ek H IS S|
gTqlh I PHIABIT B H U TdeR H Th-gar I fF §, TRg & &1 Al gR1 379 I UHR Aoy RiTfud foam o wedn g o 3d
&1 forR0l IR aRW el 811 & dTavlg, d R gl §RT UHA & fdggd a<ill & del off g g |

Sub questions




Question Number : 76 Question Id : 54062618904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o SR g Hfad H 31 a9 g2
Options :

1. # 9 §gllUs

2. % gg

3. v ol S|IUs

4. % &Sl

Question Number : 77 Question Id : 54062618905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 5 919 @ I8Hd 82

Options :

1. % TP Sl H FHH &

2. % YD P WHE I §

3. ¥ UAd ofld fd §

4. % YA B fohdT SR UG 99 §

Question Number : 78 Question Id : 54062618906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T 371 3R 3 o o [Hd YHR 1R A 62
Options :

1. ¥ & & HIgH 9

2. % B & GRI

3. % HJgIU o gRI

4. % IR Y

Question Number : 79 Question Id : 54062618907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST ¥ DI - T THE T BT FHARN et a1 82
Options :

1. % gy

2. ¥ dg=ydl

3. % el

4, % JAJIT

Question Number : 80 Question Id : 54062618908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3G B g JUYad XY b-
Options :

1. ® UhUdl

2. % M BT A

3. ¢ fda o1 fAmior

4. % SEUS B AT

General English

Group Number : 5

Group Id : 540626718
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General English

Section Id : 540626900
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261088
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062618909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If you suspect a problem but cannot/ meet this criterion, recommend further/ review by an expert statistician.
Options :

1. # If you suspect a problem but cannot

2. ¥ meet this criterion, recommend further

3. # review by an expert statistician.

4. ¥ No Error

Question Number : 81 Question Id : 54062618909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If you suspect a problem but cannot/ meet this criterion, recommend further/ review by an expert statistician.
Options :



1. % If you suspect a problem but cannot

2. % meet this criterion, recommend further
3. # review by an expert statistician.

4. ¥ No Error

Question Number : 82 Question Id : 54062618910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The third criteria is the degree of/ independence possessed by the bank/ and the juridical basis on which this rests.
Options :

1. ¥ The third criteria is the degree of

2. ® independence possessed by the bank

3. # and the juridical basis on which this rests.

4. % No Error

Question Number : 82 Question Id : 54062618910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The third criteria is the degree of/ independence possessed by the bank/ and the juridical basis on which this rests.
Options :

1. ¥ The third criteria is the degree of

2. % independence possessed by the bank

3. % and the juridical basis on which this rests.

4. ® No Error

Question Number : 83 Question Id : 54062618911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They do not come (with the control of the Greyhound Board of the Great Britain).

Options :

1. # with the control of the Greyhound Board of Great Britain

2. # under the control of the Greyhound Board of the Great Britain
3. ¥ under the control of the Greyhound Board of Great Britain

4. # No correction required

Question Number : 83 Question Id : 54062618911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They do not come (with the control of the Greyhound Board of the Great Britain).

Options :

1. # with the control of the Greyhound Board of Great Britain

2. % under the control of the Greyhound Board of the Great Britain
3. ¢ under the control of the Greyhound Board of Great Britain

4. ® No correction required

Question Number : 84 Question Id : 54062618912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He spent nine hours in jail (and he was issued three summons).
Options :



1. #* for he was issued three summons
2. % although he was issued three summonses
3. #* while he was issued three summons

4. # No correction required

Question Number : 84 Question Id : 54062618912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He spent nine hours in jail (and he was issued three summons).
Options :

1. # for he was issued three summons

2. % although he was issued three summonses

3. # while he was issued three summons

4. # No correction required

Question Number : 85 Question Id : 54062618913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It probably seems unnecessary to write a corny for a man whose TV persona virtually defined corniness for over three decades.
Options :

1. ¥ eulogy
2. # ecology

3. # pyrology
4. # ethology

Question Number : 85 Question Id : 54062618913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice

It probably seems unnecessary to write a corny for a man whose TV persona virtually defined corniness for over three decades.
Options :

1. ¥ eulogy

2. # ecology
3. % pyrology
4. # ethology

Question Number : 86 Question Id : 54062618914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Eventually he let me go, thankfully without insisting I forfeit my memory card or at his feet or sign a written apology.

Options :

1. # antinovel
2. % grovel

3. % shrivel

4. % gravel

Question Number : 86 Question Id : 54062618914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Eventually he let me go, thankfully without insisting I forfeit my memory card or at his feet or sign a written apology.

Options :

1. # antinovel
2. % grovel

3. % shrivel

4. % gravel



Question Number : 87 Question Id : 54062618915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Religious revivals may

P. the relatively impious
Q. time, particularly when
R. occur from time to

S. find that their cultural

identity under attack.
Options :

1. ¥ SRQP

2. % PQRS

3. ¥ RQPS

4. % SPQR

Question Number : 87 Question Id : 54062618915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Religious revivals may
P. the relatively impious
Q. time, particularly when

R. occur from time to



S. find that their cultural

identity under attack.
Options :

1. % SRQP

2. % PQRS

3. ¥ RQPS

4. % SPQR

Question Number : 88 Question Id : 54062618916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Plaintiff
Options :

1. # Defendant
2. # Suspect
3. # Litigant
4. ¥ Accuser

Question Number : 88 Question Id : 54062618916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Plaintiff
Options :

1. % Defendant
2. # Suspect
3. % Litigant
4. ¥ Accuser



Question Number : 89 Question Id : 54062618917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Tarnish
Options :

1. # Defile
2. # Corrode
3. ¥ Brighten
4. #* Blemish

Question Number : 89 Question Id : 54062618917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Tarnish
Options :

1. # Defile
2. % Corrode
3. % Brighten
4. # Blemish

Question Number : 90 Question Id : 54062618918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ successful

2. # succesful

3. # successfull

4. % sucessful



Question Number : 90 Question Id
Orientation : Vertical

: 54062618918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options :

1. ¥ successful
2. # succesful

3. % successfull

4. % gucessful

Question Number : 91 Question Id
Orientation : Vertical

: 54062618919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options :

1. ¥ restaurant
2. # restarant
3. # restaraunt

4, % restraunt

Question Number : 91 Question Id
Orientation : Vertical

: 54062618919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options :

1. ¥ restaurant
2. # restarant
3. % restaraunt

4. % restraunt

Question Number : 92 Question Id

: 54062618920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Van Gogh's ear for music

Options :

1. # Undecided

2. % When multiple people all agree on the same thing.

3. # Anxious or nervous, especially in anticipation of something.
4. ¢ Tone deaf

Question Number : 92 Question Id : 54062618920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Van Gogh's ear for music

Options :

1. ¥ Undecided

2. % When multiple people all agree on the same thing.

3. # Anxious or nervous, especially in anticipation of something.
4. ¥ Tone deaf

Question Number : 93 Question Id : 54062618921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Variety is the spice of life

Options :

1. # To enjoy yourself by going out.

2. ¥ When someone puts themself in a risky situation.

3. # Something that suddenly and unexpectedly occurs.



4. ¥ The more experiences you try the more exciting life can be.

Question Number : 93 Question Id : 54062618921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Variety is the spice of life

Options :

1. # To enjoy yourself by going out.

2. % When someone puts themself in a risky situation.
3. % Something that suddenly and unexpectedly occurs.

4. ¥ The more experiences you try the more exciting life can be.

Question Number : 94 Question Id : 54062618922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Fear of being confined to small place
Options :

1. ¥ Homophobia

2. # Acrophobia

3. % Claustrophobia

4. % Xenophobia

Question Number : 94 Question Id : 54062618922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Fear of being confined to small place
Options :



1. # Homophobia
2. # Acrophobia
3. % Claustrophobia
4. ¥ Xenophobia

Question Number : 95 Question Id : 54062618923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Lacking moderation or sobriety
Options :

1. # Stupor

2. % Conundrum

3. # Repartee

4. ¥ Intemperate

Question Number : 95 Question Id : 54062618923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Lacking moderation or sobriety
Options :

1. % Stupor

2. % Conundrum

3. # Repartee

4. ¥ Intemperate

Sub-Section Number : 2
Sub-Section Id : 5406261089
Question Shuffling Allowed : Yes

Question Id : 54062618924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives

When plastic waste is burnt, a complex weave of toxic chemicals is released. Breaking down polyvinyl chloride (PVC) — used for packaging,
toys and coating electrical wires — produces dioxin, an organochlorine which belongs to the family of Persistent Organic Pollutants (POPs). A
recent Dioxin Assessment Report brought out by the United States Environment Protection Agency (USEPA) says the risk of getting cancer from
dioxin is ten times higher than reported by the agency in 1994.

Yet the Delhi government is giving the green signal to a gasification project which will convert garbage into energy without removing plastic
waste. Former transport minister Rajendra Gupta, the promoter of this project, says this is not necessary.

He claims no air pollution will be caused and that the ash produced can be used as manure. An earlier waste-to-energy project set up in Timarpur
failed. The new one, built with Australian assistance, will cost X 200 crore. It will generate 25 megawatts of power and gobble 1,000 tonnes of
garbage every day.

“Technologies like gasification are a form of incineration,” says Madhumita Dutta, central coordinator with Toxics Link, New Delhi. Incineration
merely transfers hazardous waste from a solid form to air, water and ash, she points out.

Toxins produced during incineration include acidic gases, heavy metals as well as dioxins and furans. “The ‘manure’ will be hazardous and a
problem to dispose,” says Dutta.

Sub questions

Question Number : 96 Question Id : 54062618925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of toxic chemical does PVC release on being burnt?
Options :

1. * Sulphur dioxide

2. % Sulphur Oxide

3. % Dioxin

4. % Carbon Monoxide

Question Number : 97 Question Id : 54062618926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a toxin produced by gasification of waste?
Options :

1. % Heavy metals

2. % Acidic Gases



3. % Manure
4. ® Dioxins

Question Number : 98 Question Id : 54062618927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # PVC is used for packaging , toys and coating electrical wires.

2. % According to Madhumita Dutta, the manure produced from gasification without removal of plastic waste will be hazardous.
3. % The Delhi government has stopped the use of gasification to generate energy realising its environment hazards.

4. % According to Rajendra Gupta gasification is a clean process.

Question Number : 99 Question Id : 54062618928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is referred to as he in the line, "He claims no air pollution will be caused and that the ash produced can be used as manure."?
Options :

1. # State Government

2. % Former Transport Minister

3. # Delhi Chief Minister

4. ® Delhi Government

Question Number : 100 Question Id : 54062618929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of gasification work by ?
Options :

1. # Recycling waste

2. ¥ Burning waste

3. % Disposing waste

4. # Landfilling waste



Question Id : 54062618924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (96 to 100)

Read the passage carefully and choose the best answer to each question out of the four alternatives

When plastic waste is burnt, a complex weave of toxic chemicals is released. Breaking down polyvinyl chloride (PVC) — used for packaging,
toys and coating electrical wires — produces dioxin, an organochlorine which belongs to the family of Persistent Organic Pollutants (POPs). A
recent Dioxin Assessment Report brought out by the United States Environment Protection Agency (USEPA) says the risk of getting cancer from
dioxin is ten times higher than reported by the agency in 1994.

Yet the Delhi government is giving the green signal to a gasification project which will convert garbage into energy without removing plastic
waste. Former transport minister Rajendra Gupta, the promoter of this project, says this is not necessary.

He claims no air pollution will be caused and that the ash produced can be used as manure. An earlier waste-to-energy project set up in Timarpur
failed. The new one, built with Australian assistance, will cost X 200 crore. It will generate 25 megawatts of power and gobble 1,000 tonnes of
garbage every day.

“Technologies like gasification are a form of incineration,” says Madhumita Dutta, central coordinator with Toxics Link, New Delhi. Incineration
merely transfers hazardous waste from a solid form to air, water and ash, she points out.

Toxins produced during incineration include acidic gases, heavy metals as well as dioxins and furans. “The ‘manure’ will be hazardous and a
problem to dispose,” says Dutta.

Sub questions

Question Number : 96 Question Id : 54062618925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of toxic chemical does PVC release on being burnt?
Options :

1. #* Sulphur dioxide

2. * Sulphur Oxide

3. # Dioxin

4. % Carbon Monoxide

Question Number : 97 Question Id : 54062618926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a toxin produced by gasification of waste?
Options :



1. ¥ Heavy metals
2. % Acidic Gases
3. % Manure
4. ® Dioxins

Question Number : 98 Question Id : 54062618927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # PVC is used for packaging , toys and coating electrical wires.

2. # According to Madhumita Dutta, the manure produced from gasification without removal of plastic waste will be hazardous.
3. % The Delhi government has stopped the use of gasification to generate energy realising its environment hazards.

4. % According to Rajendra Gupta gasification is a clean process.

Question Number : 99 Question Id : 54062618928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is referred to as he in the line, "He claims no air pollution will be caused and that the ash produced can be used as manure."?
Options :

1. # State Government

2. % Former Transport Minister

3. # Delhi Chief Minister

4. ® Delhi Government

Question Number : 100 Question Id : 54062618929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of gasification work by ?
Options :

1. # Recycling waste

2. ¥ Burning waste

3. % Disposing waste



4. % Landfilling waste
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Question Number : 101 Question Id : 54062618930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following devices uses high dielectric material for safety?

Disciplinel

6
540626719
0

0

No

No

0

20

No

Disciplinel

540626901
1

Online
Mandatory
20

20

20

Yes

1
5406261090
Yes



Options :

1. # Generators

2. ¥ Wires insulation
3. % Switch bases

4. ® Motors

Question Number : 101 Question Id : 54062618930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad & ¥ ®F 91 IUSHRUT GRET & o1T I Widggd Uard &1 STIRT Hdl 62
Options :

1. % Sff=

2. ¥ AR faggRiyA

3. % g 9y

4. % Ocd

Question Number : 102 Question Id : 54062618931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The high amount of energy is stored in which of the following capacitors?
Options :

1. * Gang capacitor

2. # plastic film capacitor

3. % Mica capacitor

4. % Tuned circuit

Question Number : 102 Question Id : 54062618931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 9 g & Jua gRI o o1 3= AT Hied Bt Sild 82

Options :




1. % T I

2. % IR e JUTiA
3. ¥ HIZHT GYIRA

4. % gHWRT gy

Question Number : 103 Question Id : 54062618932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We can Increase the Inductance of materials by the following methods?
Options :

1. # By increasing dielectric constant of the material

2. % By decreasing dielectric constant of the material

3. # By reducing the turn number

4. ¥ By increasing coil turns number

Question Number : 103 Question Id : 54062618932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy frufoiaa faftrat gr1 uerd & IRevd &1 9¢1 Ihd 82
Options :

1. % Uerd & WRIdggdidh & T@THY

2. % Uer} & WRIAGTAID B! HH HRb

3. % TH AR P HY PR

4. ¢ HISA AT DI TBT TG

Question Number : 104 Question Id : 54062618933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Dielectric used in the variable Capacitor is

Options :
1. #® Mica (solid)



2. # Electrolyte
3.9 Air

4. # ferromagnet material

Question Number : 104 Question Id : 54062618933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
INTse GuTia § uged wRidegd gl
Options :

1. # 3fYP (314)

2. % faggd-suucy

3. ¥ dg

4. % iggE® uard

Question Number : 105 Question Id : 54062618934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which bridge is used for the measurement of capacitance?
Options :

1. # DC bridge

2. % Wheatstone bridge circuit

3. ¥ Schering bridge circuit

4. % Hay's bridge circuit

Question Number : 105 Question Id : 54062618934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR ATOH & o o5 foreT o1 STt fasan S 82
Options :

1. % St foet

2. % glckeH faol gfdbe




3. ¢ TR foie gfdhe
4. % gy fo Ofhe

Question Number : 106 Question Id : 54062618935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the NO contact of an 8 Pin Relay?
Options :

1. ¥ 1&3;6&8

2. % 2&4;5&7

3. % 1&3;2&7

4, % 1&8,5&7

Question Number : 106 Question Id : 54062618935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 for7 R &1 NO Tuds T 72

Options :

1. ¥ 1&3;6&8

2. % 2&4;5&7

3. % 1&3;2&7

4. % 1&8,5&7

Question Number : 107 Question Id : 54062618936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many OR gates and AND gates are required to realize:

Y=AB+FG+R?
Options :

1. ¥ 2.2 respectively
2. % 2.3 respectively



3. % 32 respectively
4. % 33 respectively

Question Number : 107 Question Id : 54062618936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 %! FHraffad HA 8q faba OR T 3R AND 1H &1 AHTTIH ©:

Y=AB+FG+R?
Options :

1.9 2,2 hHRI

2. % 23hHYT

3. % 32PHX

4, % 33 hHY

Question Number : 108 Question Id : 54062618937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Full adder circuit consists of the following output and input lines:
Options :

1. # Three input lines and three output lines

2. % Two input lines and one output lines

3. % Two input lines and two output lines

4. ¥ Three input lines and two output lines

Question Number : 108 Question Id : 54062618937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T qUf G IRTY (Jfdhe) # Faffad ifa (smsege) stk 3w 3ge) A 8t 8
Options :

1. # 9 37Yc AgAeiR & sideye argA

2. % TIYE AR 3R TP SMIeYe T



3. % QI 3YC o3 3R & 3M3eYe a1z
4. ¢ T 3TYC W13 SIR &1 3M3CYC ArsH

Question Number : 109 Question Id : 54062618938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of PGA in IC fabrication?
Options :

1. # Plastic Greater Array

2. ® Pin Greater Array

3. ¢ Pin Grid Array

4. ® Plastic Grid Array

Question Number : 109 Question Id : 54062618938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3s3t Higdpe A Uit &1 pa wid T 82
Options :

1. % WD YR W

2. % A IRW

3. ¢ e W

4. % WRCD S W

Question Number : 110 Question Id : 54062618939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A D-flipflop is basically a

Options :

1. ® Driver circuit

2. % Divider circuit

3. ¥ Differentiator circuit



4. ¥ Delay circuit

Question Number : 110 Question Id : 54062618939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T D-feroy ga ¥ @ d
Options :

], % SR URTY

2. % fyyea ufuy (fSarseR Ofde)

3. % faves uRuy (fewe=ituer wfde)

4.  fadislt ufkoy (&t fde)

Question Number : 111 Question Id : 54062618940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When is TTL circuit is used as a current source?
Options :

1. ¥ High State

2. % Low State

3. # Intermediate State

4. ® High output Impedance State

Question Number : 111 Question Id : 54062618940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTL Hfthe HI YRT Tl & ©0 J d IGINT [ STl 8?2
Options :

1. ¢ 3= AT

2. % 39 sfaRyT

3. % HYAd! ARl

4. % I IATG YT Iy




Question Number : 112 Question Id
Orientation : Vertical

: 54062618941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
For a 10 bit A to D converter what will be the approximately quantization error?

Options :

1. % 10 percent

2. % 0.1 percent
3. % 0.001 percent
4. % 1.0 percent

Question Number : 112 Question Id
Orientation : Vertical

: 54062618941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

10 fae A ¥ D URad® & fag et aRAfieRor I o grme

Options :

1. % 10 gfard
2. ¢ 0.1 Ufaerd
3. % 0.001 gfa=rd
4. % 1.0 gfaerd

Question Number : 113 Question Id
Orientation : Vertical

: 54062618942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
What happens to the collector current in CE configuration after negative feedback is provided?

Options :

1. # Increase

2. # Remain same

3. # First Increase then decrease
4. ¥ Decrease

Question Number : 113 Question Id

: 54062618942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HUTHS UGS (BISaH) U TR & d1G CE HIRBTRIA H HardeR YRT BT 1 gIdT 67
Options :

1. % gfg

2. % QA QAT §

3. % Ugd gig fhr uerg

4. 9ed

Question Number : 114 Question Id : 54062618943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which region a UJT works beyond the peak point?
Options :

1. ¥ Negative Resistance Region

2. % Saturation Region

3. % Active Region

4. # Cut off Region

Question Number : 114 Question Id : 54062618943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UIT f &3 o oRH fofg ¥ W & &xal g7

Options :

1. ¢ BUTHS UfeRIY &
2. % gft &=

3. % gipy &7

4. % P AT &

Question Number : 115 Question Id : 54062618944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which of the following applications thyristor is used?
Options :

1. ¥ VFD

2. % PLC

3. # Timer circuit

4. % Mosfet

Question Number : 115 Question Id : 54062618944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered o 9 forg sy & urgfeeR &1 IuanT e ST 82
Options :

1. ¥ VFD

2. % PLC

3. % TEMR URTY

4. % HGhe

Question Number : 116 Question Id : 54062618945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electrons are removed from which of the areas in a photoelectric effect?
Options :

1. # Nucleas

2. ¥ Surface

3. % core area

4. % Inner Shell

Question Number : 116 Question Id : 54062618945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTRI-faggd UHTa H o & ¥ SaiaeiHl I gl faa SirdT g2



Options :

1. % A1 (giaea)
2. % Ydg

3. % DR TR

4. % IRAA

Question Number : 117 Question Id : 54062618946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are the Bus Switches used?
Options :

1. % Multi microprocessor system

2. % Bus window technique

3. % Star Topology

4. ¥ Crossbar switching

Question Number : 117 Question Id : 54062618946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 9 &1 IUIRT FHg! b1 A &2

Options :

1. % §g AISHIVIRRR o (Hee! A3 IR Re)
2. % g9 fdel dob-ith

3. % TR Tl

4. ISR fafd

Question Number : 118 Question Id : 54062618947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wire wound resistor at high frequency behave as a(n)

Options :



1. # Capacitor
2. # Diode
3. % Triac
4. ¥ Inductor

Question Number : 118 Question Id : 54062618947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SR R IR Fefrd TaRIg® Th (n) P ¥U H IR HRAT g
Options :

1. % gyl

2. % SIS

3. % Ch

4. IRD

Question Number : 119 Question Id : 54062618948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For which case ohm law is not applicable?
Options :

1. # DC circuit

2. ¥ Insulator

3. * Transformer

4. % AC circuit

Question Number : 119 Question Id : 54062618948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 v fog Ame & @R 6T 8raT g2
Options :

1. ® DC URUY




2. ¢ faggaRidh
3. % TOBIR

4. % ACORTY

Question Number : 120 Question Id : 54062618949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To reduce soldering of components which type of PCB is chosen?
Options :

1. ¥ Double sided PCB

2. * Single Ended PCB

3. * Single sided PCB

4. % Three ended PCB

Question Number : 120 Question Id : 54062618949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gch] b eIl T (NS RT) BT HH B & o8 fhg UHR o1 PCB AT STl 82

Options :
1. ¢ fgb RRTPCB
2. % Uohd RRIPCB
3. % Tohd U&g PCB
4. % A RRTPCB
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Show Attended Group? : No
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Group Marks : 20
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Section Id : 540626902
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Question Number : 121 Question Id : 54062618950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The least expensive Technology is for PCB Design is:
Options :

1. * Surface mount Technology

2. % Printed Circuit Board

3. % Through hole Technology

4. % CAD design Technology

Question Number : 121 Question Id : 54062618950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



PCB f&9T3 & forT ged o1 A T &
Options :

1. % Tdg YRS WPt (RBI-ATIC IaoN)
2. % es Ofhe TS

3. ¢ Bid Mt & Aregd 9§

4. % CAD fewga Uit

Question Number : 122 Question Id : 54062618951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Surface Mount Technology require

Options :

1. # Parallel connecting Pins
2. % Holes and pads

3. ¢ Direct mounting

4. # Parallel PCB

Question Number : 122 Question Id : 54062618951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Idg YRS WD (RBI-ATSC rareh) A DI MIRIHAT Bl ]
Options :

1. % FHMIR BTG U

2. % PR TS

3. ¢ T HIdfen

4. % JAMIR PCB

Question Number : 123 Question Id : 54062618952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most commonly used type of PCB Board is




Options :

1. # Dual-In-Pack
2. # flat pack

3. % TO pack

4. ¥ SMT

Question Number : 123 Question Id : 54062618952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PCB dS &1 T 3{feies IUANT foal ST a1l UhR gl
Options :

1. # gId-39-U%

2. % TRiC UP

3. % TOU®

4. % SMT

Question Number : 124 Question Id : 54062618953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 8085, which one of the following affects the flags maximum ?
Options :

1. % RRC

2. % ORA A

3. ¥ EXCHG A

4. ¥ XRA A

Question Number : 124 Question Id : 54062618953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8085 H, P & QA o1 Ja¥ 31 Tty 1 gHIfad BT 82

Options :



1. ® RRC

2. % ORA A

3. ¥ EXCHG A
4. ¢ XRA A

Question Number : 125 Question Id : 54062618954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which model is considered as project risk factors?
Options :

1. # Prototype Model

2. # Semi-Prototype model

3. % Water fall model

4. ¥ Spiral Model

Question Number : 125 Question Id : 54062618954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Afsd 3! uRaIeHT SIfeH RS AFT SITdT 82
Options :

1. ® giclegy Algd

2. % IF-TICIergy Aled

3. % gIex Bid Alsd

4. ¢ giUd Afsd

Question Number : 126 Question Id : 54062618955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the function of a tri-state buffer?
Options :

1. # To avoid complexity during reading



2. # To minimize loading duration
3. ¥ To avoid loading effect

4. ® To provide User interface

Question Number : 126 Question Id : 54062618955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- SaRIT THR BT BT T 52
Options :

1. % ST H IRA Sfead J 597 & forw
2. % ST A P HH B & forw
3. ¢ AT YT A 999 & g

4. % JOR 3y U oA & forg

Question Number : 127 Question Id : 54062618956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the microcontroller uses batteries for the Power Supply?
Options :

1. # Low voltage dissipation

2. # Low Current Consumption

3. ® High power Dissipation

4. ¥ Low Power Consumption

Question Number : 127 Question Id : 54062618956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTShidheleR fagdd Uardt & fore §eial &1 STanT i SRl 82
Options :

1. % $HH fqHIIdR 3Ty

2. % DH YRT@Ud




3. % I faggasal sy
4. ¥ BH fdgga3s B! @Ud

Question Number : 128 Question Id : 54062618957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which reason the CISC type processor is designed?
Options :

1. ¥ Maximize the compilation

2. % Minimize user Interface

3. ¥ Minimize power consumption

4. ¥ Reduce instruction sets

Question Number : 128 Question Id : 54062618957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CISC TR & TR P! {9 SR fEoms forar man g2
Options :

1. % Gohad DI MYbHaH HAT

2. % GOR SRBY HH DAl

3. % faggasel & Wud HH &Rl

4. ¢ JaR YT HY H & fow

Question Number : 129 Question Id : 54062618958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During transmission digital data is more secure because of

Options :
1. # High frequency transmission
2. # Low frequency transmission

3. # Power consumption less



4. ¥ [t remain encryption

Question Number : 129 Question Id : 54062618958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &b RM P HRU fSTed SeT 31t R ST |
Options :

1. % I 3Ry G=RUT

2. % Y AT YR

3. % faggase & &Y ¥ad

4. ¥ g wiered (Yh) 8l 3

Question Number : 130 Question Id : 54062618959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In digital transmission, the error performance is quantified in terms of
Options :

1. # Baud rate

2. # Data rate

3. % BER

4. % Bit rate

Question Number : 130 Question Id : 54062618959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefrea crafrem &, 7 e & Teuf 7 Rufa fear Srar g
Options :

1. % gle

2. % S

3. ¥ BER

4. % f[de®



Question Number : 131 Question Id : 54062618960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the main reason for Delay Handoff?
Options :

1. ¥ Weak signal, High traffic

2. % Limited BSC, High traffic

3. # Fading effect

4. % Limited BSC, High MSC

Question Number : 131 Question Id : 54062618960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
facia B8 3ih &1 T HRUT T 87
Options :

1. ¢ SHVIR R, 3= g1

2. % Hiftd BSC, 3= A1

3. % &fluF Uy

4. % fafiee BSC, 3= MSC

Question Number : 132 Question Id : 54062618961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the time base of a Timer?

Options :

1. ¥ Time difference between two successive time indices
2. # Timer preset value

3. # Timer accumulator value

4. % Timer set state

Question Number : 132 Question Id : 54062618961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TSR HT IHITYR 1 8l 82

Options :

1. ¥ Gl it T YaDhidh] & did I B 3R
2. % TR U A

3. % TSR YOe I

4. % TRWR e RAUfq

Question Number : 133 Question Id : 54062618962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Program counter gets effected by which instruction?
Options :

1. # Push, PoP

2. % Call, Return

3. ¥ PSW

4. % Call, Jump

Question Number : 133 Question Id : 54062618962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I HIe fopw (S 3§ gwifad g 82
Options :

1. * UXI, Pop

2. % pra, Red

3. ¥ PSW

4. Pid, S

Question Number : 134 Question Id : 54062618963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

During operaiton, stack point gets increamented in a microprocessor.
Options :

1. * Pop

2. # Return

3. % Call

4. ¥ Push

Question Number : 134 Question Id : 54062618963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR P R, ATSHIUEER H WP Ulse ggdl gl

Options :
1. % Pop
2. % Red
3. % Pid
4. ¢ U

Question Number : 135 Question Id : 54062618964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are used to connect a computer to a network.
Options :
1. % TP address
2. ¥ Gateways
3. % connector
4. % Splitter

Question Number : 135 Question Id : 54062618964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEER B! Head I Sied & g BT IUANT fHa1 ST 3|




Options :
1. % IP 339
2. ¢ g

3. % IRl (Pdy)
4. % AR

Question Number : 136 Question Id : 54062618965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main advantage of a Real-time System?
Options :

1. ¥ More Accurate, Specific

2. ® More software-dependent

3. ® Easy to design

4. ® Slow working device

Question Number : 136 Question Id : 54062618965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sgd-CTgH YTTet BT 3T Y &1 82
Options :

1. ¢ 31w T, Ry

2. % 3fYF AtedR R R

3. % SO B | M

4. % g DGR IUH]

Question Number : 137 Question Id : 54062618966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the range of memory size in a real-time system?
Options :



1. # Megabyte-range
2. ¥ Kilobyte-range
3. % Terabyte-range
4. # Picobyte-range

Question Number : 137 Question Id : 54062618966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sgd-ered Ried o BERY STHR B ¥ 71 82
Options :

1. % SIS

2. ¢ fhelarge

3. % CESC

4. % UPIEZCIA

Question Number : 138 Question Id : 54062618967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of DCS?

Options :

1. # Digital Control System

2. ¥ Distributed Control System

3. % Data Control System

4. % Dual Control System

Question Number : 138 Question Id : 54062618967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DCS T YUl YU &1 82
Options :

1. % fefoied dhera ey



2. ¢ fSfgses dgia Rien
3. % Sl dheld RReH
4. % A Hela Rien

Question Number : 139 Question Id : 54062618968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is parity bit used in data transmission and analysis?
Options :

1. ¥ For Error detection

2. % For Error Correction

3. % Power Level check-up

4. % Diagnostic Monitor

Question Number : 139 Question Id : 54062618968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR SR fa=eryor & 9w fae &1 IudiT &t fasan STl g2
Options :

1. ¢ Ffe G & ferg

2. % I YUR & forg

3. % UIaR odd db-3(7

4. % SOYIREH AR

Question Number : 140 Question Id : 54062618969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the abstract form of Venn Diagram?
Options :

1. # Block diagram

2. % K-map



3. % Cyclic Diagram

4. # Schematic Diagram

Question Number : 140 Question Id : 54062618969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O 3R HT IR U T 87

Options :

1. ¥ Siih ARG

2. ¢ KB

3. % Iebig ARG

4. % IR ARG
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Question Number : 141 Question Id : 54062618970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AJFET isa device.
Options :

1. % Bipolar

2. % Unipolar

3. ® Tripolar

4. ¥ Nonpolar

Question Number : 141 Question Id : 54062618970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JFET SUB 5 |
Options :

1. % fgyd @mRuR)
2. ¥ UhydT (GAUIR)
3. ® POeR

4. % 3Ydig

Question Number : 142 Question Id : 54062618971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the controlling parameter of MOSFET as CS biasing mode?



Options :
1. # Vds
2. % Vgs
3. % QGate current

4. % Source current

Question Number : 142 Question Id : 54062618971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s AR @R 7is & U # MOSFET &1 fRtFe Ured &1 82
Options :

1. % Vds

2. ¥ Vgs

3. % T HC

4. % G HC

Question Number : 143 Question Id : 54062618972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Piezoelectric material uses which of the following combination?
Options :

1. # Potassium niobate

2. ¥ Rochelle salt

3. % Lead zirconate

4. % Barium Titanium oxide

Question Number : 143 Question Id : 54062618972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o 2 fg T &1 IUanT arefagygd gerd el 82

Options :



1. % greRrm [sfiee

2. ¢ A Tiee

3. % diis foR®IHe

4. % JRTH ergefad iRgs

Question Number : 144 Question Id : 54062618973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How we can measure a resistance that normally cannot be a measured using a normal multimeter?
Options :

1. # By converting into an Ohm Meter

2. # By connecting a series of resistance

3. # By connecting a parallel resistance

4. ¥ By measuring current and Voltage individually

Question Number : 144 Question Id : 54062618973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&Y T iRy &1 HY AT Yhdl & o Y=g SgATd BT ITINT b WA TY I HIYT g o Tebal 82
Options :

1. % 3y Hiex ¥ ufkafdd e

2. % YiaRIY B YAl i SIS h

3. % FHAMIGR UeRIY SIS

4. ¥ YRT 3R IR ) AfGHTT TY F ATTHR

Question Number : 145 Question Id : 54062618974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the tolerance value for no color in a resistor?
Options :

1. ® 25 percent



2. % 30 percent
3. % 20 percent
4. % 15 percent

Question Number : 145 Question Id : 54062618974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt feRYee o 19 g1 & forg wgran |H w1 52
Options :

1. % 25 gid=rd

2. % 30 Ufaerd

3. ¢ 20 Ufd=rd

4. % 15 yfaerd

Question Number : 146 Question Id : 54062618975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happens during the charging of a lead-acid battery?
Options :

1. ® Electrolyte's gravity decreases

2. ¥ Electrolyte's gravity increases

3. # Electrolyte's gravity becomes zero

4. ® Electrolyte's gravity remain same

Question Number : 146 Question Id : 54062618975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S-S 9o 1 TS B P SR T I 82
Options :

1. % faggd SMUdcd &1 Iy ucdl §

2. ¢ faggd-3Uged &1 AH YUl dgdl &




3. % fdqgd-3/uucd &I TSQAIH YUl X &l ol &
4. % faggd-s[Tgcy T TS@IH YUl IHH X8dT §

Question Number : 147 Question Id : 54062618976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why cells are connected in parallel with the previous one?
Options :

1. #® To increase maximum output

2. ® To save power loss

3. ¥ To increase current capacity

4. ® To increase lifetime

Question Number : 147 Question Id : 54062618976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ! fUed ard & HHIR | &) Siiel STdl 82
Options :

1. % JHfHaH 3T3eYC TgM & forg

2. % faggass &fd 5= & fo

3. ¢ YR &A1 I & forg

4. % SgAPTA dgH & forg

Question Number : 148 Question Id : 54062618977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is a timer?

Options :

1. ® Switching device

2. ¥ Controlling device

3. # Counting Device



4. % Power up Device

Question Number : 148 Question Id : 54062618977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSR 1 67

Options :

1. % e Iuaul

2. ¢ FRIY®S IUDHRUT

3. % UM 3UHRU

4, % QRIUTID IUHUI

Question Number : 149 Question Id : 54062618978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the octal equivalent of the decimal number (393)10?
Options :

1. ¥ (611)8

2. % (610)8

3. % (601)8

4. % (444)8

Question Number : 149 Question Id : 54062618978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TRSAT (393)10 BT FTURT T FT 82
Options :

1. ¥ (611)8

2. % (610)8

3. % (601)8

4. % (444)8



Question Number : 150 Question Id : 54062618979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the HexaDecimal equivalent of decimal number (456)10?
Options :

1. ¥ (1C8)16

2. % (1D8)16

3. % (2C8)16

4. % (1A3)16

Question Number : 150 Question Id : 54062618979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST ST (456)10 BT WIS YR THI T &2
Options :

1. ¥ (1C8)16

2. % (1D8)16

3. % (2C8)16

4. % (1A3)16

Question Number : 151 Question Id : 54062618980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Boolean expression of an Exclusive OR gate?
Options :

1. % C+CD

2. ¥ C’D+CD’

3. % C.D+tD

4, % C+D’

Question Number : 151 Question Id : 54062618980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIFHRIG OR 1T PT gE1g oI HT 32
Options :

1. % C+CD

2. ¥ C’D+CD’

3. % C.D+tD

4, % C+D’

Question Number : 152 Question Id : 54062618981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the alternative name of the gray code?
Options :

1. # Excess 3 code

2. # Reverse code

3. ¥ Reflected code

4. % Error code

Question Number : 152 Question Id : 54062618981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y DI BT dhicid 5 H1 82
Options :

1. % 3ffaRad 3 prs
2. % Rad s

3. ¢ RIAfAd B
4. % e pre

Question Number : 153 Question Id : 54062618982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Dual-in-Line package is used for:
Options :

1. % Antenna fabrication

2. % Memory manufacturing

3. % Processor Design

4. ¥ IC fabrication

Question Number : 153 Question Id : 54062618982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§3HT-39-A18 Udbol &1 I A9 & forg s i &
Options :

1. % G fAmior

2. % YRy fafAafor

3. % JRIRR f&wrgA

4. 1c i

Question Number : 154 Question Id : 54062618983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the output of the Schmitt trigger for the input of sinusoidal?
Options :

1. # Triangular Wave

2. % Sawtooth wave

3. # Sinusoidal wave

4. ¥ Square wave

Question Number : 154 Question Id : 54062618983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIaH R & A% (37Ye) & fore e iR &1 e (3m3eye) 1 g



Options :

1. % Doiufig aa
2. % 3IRIGd a3
3. % ST AT

4. T qETEY

Question Number : 155 Question Id : 54062618984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FET is used as a switching element for a logic family of
Options :

1. % NMOS

2. % PMOS

3. % IMOS

4. ¥ CMOS

Question Number : 155 Question Id : 54062618984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FET %1 SUaRT & o URAR & forg RafiT 9@ & =u  fsar sran |
Options :

1. % NMOS

2. % PMOS

3. % IMOS

4. ¥ CMOS

Question Number : 156 Question Id : 54062618985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the fastest A/D converter?
Options :

1. # Ramp type



2. % Dual slope type
3. #* Single type
4. ¥ Successive type

Question Number : 156 Question Id : 54062618985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 & el a9 A/D FUIRS &2
Options :

1. % YUTRY

2. % S WUCrey

3. % RiTei ey

4.« RIS I8y

Question Number : 157 Question Id : 54062618986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a CE configuration if the current gain is 50 and Ib = 300mA, then what will be the Ic?
Options :

1. # 23.5mA

2. % 1.5SmA

3. % 5SmA

4. ¥ 15A

Question Number : 157 Question Id : 54062618986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CE SRR & fre afe Ia@™ a1y 50 3R Ib = 300mA g, @ Ic TSR
Options :

1. #® 23.5mA

2. % 1.5mA



3. ® 5SmA
4. ¢ 15A

Question Number : 158 Question Id : 54062618987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the doping level of the base in the PNP Transistor?
Options :

1. % Thin and lightly doped

2. # Thick and lightly doped

3. % Thin and Heavily Doped

4. # Thick and heavily doped

Question Number : 158 Question Id : 54062618987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PNP TifSReR # o9 &1 SIftT dad &1 g2
Options :

1. ¥ UddT 3R gebl S

2. % QT 3R GepT SIY

3. % gaar 3R YR SiY

4. % T 3R U SIY

Question Number : 159 Question Id : 54062618988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which biasing technique is used as the current Amplifier?
Options :

1. # Fixed Bias

2. % Emitter Feedback

3. % Self Bias



4. ® Collector-Base Bias

Question Number : 159 Question Id : 54062618988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRT yades & 0 H 59 SRS debiies BT YA {51 W1 82
Options :

1. % RR ffyAfd

2. ¢ I Uiy (UfieR Bigda®)

3. % T JHfHAf

4. % HAFRI-SY AT

Question Number : 160 Question Id : 54062618989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which coupling gives the best frequency response?
Options :

1. # RC coupling

2. # Transistor Coupling

3. ¥ Direct coupling

4. ® Indirect coupling

Question Number : 160 Question Id : 54062618989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF 1 gfra (@uferT) Tafaw snaf ufafsar Targ?
Options :

1. % RC gfd (dufei)

2. # YfeRIYraA gfera (@)

3. ¢ U8 i (HUfei)

4. % UL T (HUlC)




Discipline4
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Question Number : 161 Question Id : 54062618990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the approximate value of a stand-off voltage in a UJT?
Options :



1. ® 015V
2.% 15V
3.# 05V
4. ¥ 10V

Question Number : 161 Question Id : 54062618990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIT § TRy faHaiaR o1 ST Jeu T 82
Options :

1. %015V

2.% 15V

3.% 05V

4. ¥ 10V

Question Number : 162 Question Id : 54062618991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For an Astable multivibrator, the duty cycle is
Options :

1. # 60 percent
2. % 50 percent
3. % 70percent
4. % 10 percent

Question Number : 162 Question Id : 54062618991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Taferd Sgehte & forg, SuTfar = gl
Options :

1. % 60 UfaRrd



2.+ 50 Ufawrd
3. % 70 Ufa=d
4. % 10 gfa=rd

Question Number : 163 Question Id : 54062618992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which material is mostly used in spelter?
Options :

1. ¥ Zinc

2. % Lead

3. % Tin

4. # Silver

Question Number : 163 Question Id : 54062618992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WeeR T 9ad e [ ugrd &1 yanT fear s g 2
Options :

1. % Sl

2. %

3. % fedq

4. % g

Question Number : 164 Question Id : 54062618993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
High Pin Count Technology is used:
Options :

1. % Through hole Technology

2. % Surface mount Technology



3. % CAD design Technology
4. # Printed Circuit Board

Question Number : 164 Question Id : 54062618993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTS O BT NI o1 IUTNT b STl @
Options :

1. % B MRNfIe! & aead 9

2. ¢ AT YRS Urelfie

3. % CAD f&ums= Urafiiet

4. % fi<g idbe dIS

Question Number : 165 Question Id : 54062618994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pin number is used to reset 80517
Options :

1. % PIN7

2. % PIN 15

3.¥ PINO

4. % PIN 11

Question Number : 165 Question Id : 54062618994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o 9 ford O FaR &1 ITANT 8051 B1 I FHo= o forg fovam i 32
Options :

1. % PIN7

2. % PIN 15

3.9 PINO9



4. % PIN 11

Question Number : 166 Question Id : 54062618995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
External Access Pin for 8051 microcontrollers is

Options :

1. # PIN 31
2. % PIN 30
3. ¥ PIN 35
4. % PIN 34

Question Number : 166 Question Id : 54062618995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 HIZPIBHCITR & (oY TaRTed Taay U gl
Options :

1. * PIN 31

2. ¥ PIN 30

3. ¥ PIN 35

4. % PIN 34

Question Number : 167 Question Id : 54062618996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of software is a Compiler?
Options :

1. % Application Software

2. ¥ System Software

3. ® Organizational software

4. % Scientific Software



Question Number : 167 Question Id : 54062618996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U o UHR T W aTR 82

2. ¢ Ry IR
3. % NSO JIHEATR
4. % QP JTREATR

Question Number : 168 Question Id : 54062618997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of RISC?

Options :

1. ® Reliable Instruction Set Computer
2. # Reduced Instruction Set Compiler
3. % Reliable Instruction Set Compiler
4. ¥ Reduced Instruction Set Computer

Question Number : 168 Question Id : 54062618997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RISC T JUf U0 1 g2

Options :

1. % RATUTA SRR I HICR

2. % i\es%s ‘i;%gd*il'-l e P HQR

3. % i\mmdm é%gch‘ll-l 5[ CERPIEIVI

4. ¢ NSYTS S YT HHR

Question Number : 169 Question Id : 54062618998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should be the resistance of the voltmeter?
Options :

1. # one

2. # Very Low

3. % Very High

4. ® Zero

Question Number : 169 Question Id : 54062618998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dlecHIc BT UfoR1Y b= g1 =g e
Options :

1. # Uh

2. % dgd ®H

3. ¢ §gd &l

4. % R[Y

Question Number : 170 Question Id : 54062618999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where can we find a Limit Switch?
Options :

1. % AC

2. ¥ Lift

3. ¥ Washing Machine

4, % Microwave oven

Question Number : 170 Question Id : 54062618999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gH farftre g et fire ot 82
Options :

1. % AC

2. ¢ forge

3. % ¢aTs A

4. % AT el

Question Number : 171 Question Id : 54062619000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which interrupt has the highest priority in 8051 upon reset?
Options :

1. % INT1

2. % TF1

3. % TFO

4. ¥ INTO

Question Number : 171 Question Id : 54062619000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR A W 8051 H fhd Sexp &1 Tata Wrufiesar gt 82
Options :

1. % INT1

2. % TF1

3. % TFO

4, ¥ INTO

Question Number : 172 Question Id : 54062619001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The memory size depends on the variable:
Options :



1. ¥ Organization of Memory
2. % size of Decoding Unit
3. % size of Data Bus

4. % size of Address Bus

Question Number : 172 Question Id : 54062619001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TARY &7 3R TR W AR @
Options :

1. % QAR BT 16

2. % fEHIfET g o1 MHR

3. % ST S B 3MHR

4. ¥ 3H3Y T BT AHR

Question Number : 173 Question Id : 54062619002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which device is used for achieving seven-segment from BCD?
Options :

1. % Adder

2. % Multiplexer

3. # Encoder

4. ¥ Decoder

Question Number : 173 Question Id : 54062619002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BCD ¥ 9Id-TS It $= & oY ford USRI T ITANT foha STl &2
Options :

1. % g



2. % Sgdbdd
3. % TIPS
4. ¢ SHIS

Question Number : 174 Question Id : 54062619003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the alternative name of one-sided Z transform?
Options :

1. # Trilateral Z-transform

2. ® Region of Convergence

3. % Bilateral Z-transform

4. ¥ Unilateral Z-transform

Question Number : 174 Question Id : 54062619003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UHdRWT Z TR BT debieds T FT 82
Options :

1. % Buey z- U

2. % FHeaoig BT &

3. ® fguely z-=urR

4. ¥ THULT Z-F0R

Question Number : 175 Question Id : 54062619004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OSI model consists of how many layers?
Options :

1. % 8

2.9 7



3% 11
4. % 14

Question Number : 175 Question Id : 54062619004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oS Asd ¥ fra R Bt 22
Options :

1. %8

2.9 7

3. % 11

4. % 14

Question Number : 176 Question Id : 54062619005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IPv4 addresses are numbers that are typically displayed in dotted decimal notation.

Options :
1. * 16 bit
2. % 32 bit
3. * 8 bit
4. * 64 bit

Question Number : 176 Question Id : 54062619005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IPv4 33T TReATE Bl § Y SR WR TS gRMed Tobad § UefRid gt §
Options :

1. % 16fdc

2.+ 320d¢

3. % gfde



4. % gafae

Question Number : 177 Question Id : 54062619006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a walkie-talkie which data communication method is used?
Options :

1. # Simplex method

2. ¥ Half Duplex method

3. % Full Duplex method

4. # Bi flex method

Question Number : 177 Question Id : 54062619006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

die-ciant & ford ST TR ugfa &1 Ui fora Sirar 82
Options :

1. * Ty fafy

2. v S gy fafy

3. % quf gy fafy

4. % g Tetay fafy

Question Number : 178 Question Id : 54062619007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which communication method is used to communicate between PC and PLC?
Options :

1. # Bi flex method

2. % Full Duplex method

3. ¥ Simplex method

4. % Half Duplex method



Question Number : 178 Question Id : 54062619007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PC 3R PLC & &9 HaR & AT {5y TaR ugfcr &1 IudiT fasan S g2
Options :

1. % fg gty fafdr

2. % quf §¥ (B sa) fafd
3.« UhHYT fafy

4. % 3 fgep (@1 groiay) fafdy

Question Number : 179 Question Id : 54062619008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of each output of a node in a Neural Network?
Options :

1. ¥ Axon

2. ¥ Node value

3. % Weights

4. % Neurons

Question Number : 179 Question Id : 54062619008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Aead § s & U fAiH (3T3eYe) &1 -1 o1 |7
Options :

1. % TaHH

2. ¢ AIg 7

3. % I

4. % RH



Question Number : 180 Question Id : 54062619009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Neuron Network what is the function of an Axon?
Options :

1. ¥ Transmission

2. # Receptor

3. # Transmitter

4. % Synapses

Question Number : 180 Question Id : 54062619009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R eddh § TR BT FT 61 82
Options :

1. ¢ IR0

2. % AW

3. % gigHicR

4. % JTAFD ST
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062619010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following softwares is designed only for a specific task?
Options :

1. ¥ Application Software

2. % Utility

3. # System Software

4. % User Interface

Question Number : 181 Question Id : 54062619010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 9 oF 1 AidedeR FHaq ARk w1 & fau fesms fear m g»
Options :

1. ¢ UToh R It ad’

2. % JUTIRTAT

3. % ey gigmR




4. % PER SXBY

Question Number : 182 Question Id : 54062619011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the alternative name of Parsing?
Options :

1. ¥ Syntax Analysis

2. # Semantic Analysis

3. % Compilation

4. # Lexical Analysis

Question Number : 182 Question Id : 54062619011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS UGURTT BT dabiedd =1H T 62
Options :

1. v Ricaq fa=evo

2. % R¥ywfes TR

3. % gpa

4. % QlgHd TR

Question Number : 183 Question Id : 54062619012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When is a signal called a power signal?
Options :

1. #* Infinite average power

2. % zero average power

3. * Finite Signal power

4. ¥ Finite average power



Question Number : 183 Question Id : 54062619012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ryd & reR Rrd 9 81 S1a 82

Options :

1. # 3Fd 3 faggasall (FTHRATEE Tavd UIR)
2. % T 3N Iegdas (SIRT ol UTaR)

3. % ORI Riud graR (Brege Rivd )

4.« TR 3 fAggd3sT (BIEEE Tars UIaR)

Question Number : 184 Question Id : 54062619013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following system does not require feedback?
Options :

1. # Causal IIR System

2. % Non causal IIR System

3. # recursive system

4. ¥ non recursive system

Question Number : 184 Question Id : 54062619013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o 9 for o &1 ufagfd (wisad) @ sraadhdl Tal 82
Options :

1. % SRONY 1R T (P31 1R Rem)

2. % TR-FHROMT 1R T (11 H9sd IR Rem)

3. % gRmadt o (ReRia Ren)

4.« IR YRG! o (A Raiia Rew)




Question Number : 185 Question Id : 54062619014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The small unit of Raster graphics is called:
Options :

1. # Paths

2. % Pitches

3. ¥ Pixels

4. # Pallet

Question Number : 185 Question Id : 54062619014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR UM &1 BIC! IHTS DI Bl oIl 6:
Options :

1. % Uy

2. % fUg

3. ¢ USRI

4. % Uale

Question Number : 186 Question Id : 54062619015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The small unit of vector graphics is called:
Options :

1. * Pitches

2. ¥ Paths

3. # Pixels

4. % Pallet

Question Number : 186 Question Id : 54062619015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
daeR UMh o 1 BIC! DTS P HeT ol 6 :
Options :

1. % fog

2.0y

3. % fUdgd

4. % Udc

Question Number : 187 Question Id : 54062619016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mechanism for a mobile call transmitted from one base station to another is called:
Options :

1. # BSC

2. % Roamer

3. ¥ MSC

4. ¥ Hand off

Question Number : 187 Question Id : 54062619016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 R VT 9 W R U Hiarga Hid b1 Hanfafl o) &gl o &:
Options :

1. % BSC

2. % IR

3. * MSC

4. ¥ §8 3iTh

Question Number : 188 Question Id : 54062619017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the full form of FBD?
Options :

1. ¥ Functional Block Diagram
2. % Full Block diagram

3. # Functional Bill Diagram
4. ® Frequency Block Diagram

Question Number : 188 Question Id : 54062619017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FBD &1 J01 TUF 1 82

Options :

1. ¢ AR sl SAUH

2. % d &b SUH

3. % AR fod S

4. % THlbdl sllch SIEIH

Question Number : 189 Question Id : 54062619018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is Relay generally used?

Options :

1. #® For high-frequency device

2. ¥ For low-frequency device

3. # To start a 3-phase motor

4. % For rectifier device

Question Number : 189 Question Id : 54062619018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qIE: R 1 SUANT Sal fadl STl 672

Options :



1. % I 3Ry SuHRU & fory

2. ¢ Y JHGfRI dTel SUBIT o felT
3. % 3.Thol HIC Y& I’ o farg
4. % YcHRR &gy & fou

Question Number : 190 Question Id : 54062619019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is DOL Starter used?

Options :

1. ¥ For less than 5 HP

2. ® For less than 2.5 HP

3. # For greater than 5 HP

4. ® For greater than 7 HP

Question Number : 190 Question Id : 54062619019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DOL TR H1 FUINT FHgl (0T oITdl 62
Options :

1. 5 HP 4 &Y o ferg

2. % 2.5 HP 9 &HH & oy

3. % 5 HP ¥ 3{fdh & forg

4. % 7HP 9 3P & oy

Question Number : 191 Question Id : 54062619020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Unique data transmission and reception which method is generally, followed?
Options :

1. # Use of Redundant bit



2. % Use of Pseudocode
3. #* check sum

4. # parity checking

Question Number : 191 Question Id : 54062619020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ffgcTa SeT TR 3R ifREu & fore qrmrad: foey fafer &1 sreRur fara ST 82

Options :

1. # 3ffafad foe &1 3uam

Question Number : 192 Question Id : 54062619021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the energy gap of a diamond?
Options :

1. ¥ About 5.5 eV

2. % About2 eV

3. % About 17 eV

4. % About 27 eV

Question Number : 192 Question Id : 54062619021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT Holl SfavTet faraT BT 82
Options :

1. ¥ TIHIT5.5 eV

2. % TIMHIT2 eV




3. % eMHIT 17 eV
4. % IMHIT 27 eV

Question Number : 193 Question Id : 54062619022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a paramagnetic material?
Options :

1. % Al

2. % Pt

3. % Ca

4.+ Co

Question Number : 193 Question Id : 54062619022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifead o @ o srgre g uerd 78l 82
Options :

1. % Al

2. % Pt

3. % Ca

4. ¥ Co

Question Number : 194 Question Id : 54062619023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the 9's complement of (525)10?
Options :

1. % 525

2. % 949

3. % 747

4. 474



Question Number : 194 Question Id : 54062619023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(525)10 BT 9 DT Rb T GRTI?
Options :

1. % 525

2. % 949

3. % 747

4.9 474

Question Number : 195 Question Id : 54062619024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is most expensive among ERAM, SRAM and DRAM?
Options :

1. ¥ SRAM

2. % DRAM

3. % SAME

4, ¥ ERAM

Question Number : 195 Question Id : 54062619024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ERAM, SRAM 3R DRAM & &% TET I 91 57
Options :

1. ¥ SRAM

2. ¥ DRAM

3. % SAME

4. ¥ ERAM




Question Number : 196 Question Id : 54062619025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the characteristics of the Zener diode in the breakdown region?
Options :

1. # Constant current

2. # Constant resistance

3. ¥ Becomes zero

4. ¥ Constant voltage

Question Number : 196 Question Id : 54062619025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHSTS &7 & SR SKIS B ARV &1 57
Options :

1. % P YRT

2. % DI UfRIY

3. % Y QISR

4. ¢ RR faHaid®

Question Number : 197 Question Id : 54062619026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the range of reverse current in a diode?
Options :

1. # kA

2. % mA

3.9 1A

4. % A

Question Number : 197 Question Id : 54062619026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SIS H Ucilg 4RI 1 THaT a1 82
Options :

1. ¥ kKA

2. ¥ mA

3.9 uA

4. % A

Question Number : 198 Question Id : 54062619027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the maximum efficiency of a full-wave rectifier?
Options :

1. ¥ 81.2 percent

2. % 40 percent

3. # 50 percent

4. % 90 percent

Question Number : 198 Question Id : 54062619027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qUI-a¥T feFaRY Bt 3ifdad garar fbai gl 82
Options :

1. ¢ 81.2 Ufc=rd

2. % 40 Ufa=rd

3. % 50 UfcrRrd

4. % 90 Yfd=rd

Question Number : 199 Question Id : 54062619028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the reference voltage level for the audio system?



Options :

1. ¥ 1.23 volts
2. % 5volts

3. % 4 volts

4. % 6 volts

Question Number : 199 Question Id : 54062619028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sifedr o & fog e favaidR TR |12
Options :

1. % 1.23d[eC

2. % 59

3. % 4 Qe

4. % 6dlec

Question Number : 200 Question Id : 54062619029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cases impedance matching is excellent?
Options :

1. % RC coupling

2. % Direct Coupling

3. # Inductance Coupling

4. ¥ Transformer coupling

Question Number : 200 Question Id : 54062619029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed & © fyg fufa & ufrarer frem Sy o2

Options :



1. % RC gfd (@ufer)

2. % e giyd (e

3. % TRad gid (HUferT)
4. « TRAHIER T (FUfei)



